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0LRQJRQL�PZD�KL]R�LEDGD�WXNXIX�QL��$�.XVLPDPD�NZHQ\H�XZDQMD�ZD�$UDIDW��
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1D�QGDQL�\D KL\R�+LMD�PQD�PDQXIDD�PHQJL�\D�NLGLQL��QD�\D�NLGXQLD�DPED\R�KD\DKHVDELNL��
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1D�\RWH�\DOL\RWDQJXOLD�\DQDNXVDQ\D�PDDQD�\D�'LQL�\D�.LLVODPX��1D�LQD�HOHZHND�\D�NZDPED�8LVODPX�XPHNZLVKD�SDQJD�PDLVKD�\D�ZDWX ZDNH�ZDNLZD�PPRMD�PPRMD��QD�ZDNLZD�PDNXQGL�PDNXQGL��NZD�PDPER�DPED\R�\DQDZDSD�XIDQLVL�NDWLND�GXQLD�QD�DNKHUD��8NDZDKDODOLVKLD�NXRZD�QD�XNDZDKLPL]D��QD�XNDZDKDUDPLVKLD�]LQDD�QD�OLZDWL�QD�PDPER�\RWH�PDED\D��1D�XNDZDOD]LPLVKD�NXXQJD�MDPDD�QD�NXZDVLNLWLNLD�PDIXNDUD�QD�PDVNLQL��QD�NXZDWXPLNLD��NDPD�XOLY\ROD]LPLVKD�QD�NXKLPL]D�NDWLND�NLOD�WDELD�LOL\R�QMHPD��QD�XNDKDUDPLVKD�QD�NXWDKDGKDULVKD�NXWRNDQD�QD�NLOD�WDELD�PED\D��QD�XNDZDKDODOLVKLD�SDWR�]XUL��KDODOL��NZD�NXSLWLD�ELDVKDUD�QD�XNRGLVKDML��QD�PIDQR�ZD�KD\R��1D�XNDKDUDPLVKD�ULED��QD�NLOD�ELDVKDUD�LOL\R�KDUDPLVKZD��QD�NLOD�MDPER�OHQ\H�XODJKDL�QD�XGDQJDQ\LIX��
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.DPD�XOLY\RZHND�VKHULD�]D�DGKDEX�]HQ\H�NXNHPHD�XYDPL]L�ZD�DLQD�\R\RWH�ZD�KDNL�]D�ZDWX�NDWLND�QDIVL�]DR�QD�PDOL�\DR�QD�KHVKLPD�]DR�NDPD��NXXZD��DX�NXLED��DX�NXPVLQJL]LD�PWX��NXZD�DPH]LQL�ELOD�\D�NXZD�QD�PDVKDKLGL��DX�XYDPL]L�NZD�NXSLJD�QD�NXXGKL�QD�NXFKXNXZD�PDOL�]D�ZDWX�SDVLQD�KDNL��1D�QL�DGKDEX�]HQ\H�NXOLQJDQD�QD�NRVD�ELOD�\D�NXRQJH]D�ZDOD�NXSXQJX]D��
.DPD�XOLY\RSDQJD�QD�XNDZHND�PLSDND�QD�XKXVLDQR�EDLQD�\D�UDL\D�QD�YLRQJ]L��1D�XNDZDOD]LPLVKD�UDL\D�NXZDWLL��YLRQJR]L���NDWLND�PDPER�\DVL\RSHOHNHD�NXPXDVL�0ZHQ\H]L�0XQJX��1D�XNDKDUDPLVKD�NXWRND�NDWLND�DPUL�]DR�KDOL�LWDND\R�SHOHNHD�XILVDGL�NZD�ZDWX�ZRWH�NZD�MXPOD�QD�NZD�ZDWX�ELQDIVL��
1D�PZLVKR�WXQDZH]D�NXVHPD�NXZD�8LVODPX�XPHIXQJDPDQD�QD�NXMHQJD�QD�NXZHND�XKXVLDQR�VDKLKL��QD�PDWHQGR�VDKLKL�EDLQD�\D�PMD�QD�0ROD�ZDNH��QD�EDLQD�\D�PZDQDGDPX�QD�MDPLL�\DNH�NDWLND�PDPER�\DNH�\RWH��KDNXQD�NKHUL�\R\RWH�PLRQJRQL�PZD�WDELD�QD�XWHQGDMLND]L�LVLSRNXZD�8LVODPX�XPHNZLVKD�XRQJR]D�8PPD�ZDNH��QD�XNDZDKLPL]D�NZD\R��QD�KDNXQD�VKDUL�\R\RWH�NDWLND�WDELD�QD�XWHQGDML�ND]L�LOD�8LVODPX�XPHNZLVKD�XWDKDGKDULVKD�8PPD�ZDNH��QD�XNDZDNDWD]D��MDPER�DPEDOR�OLQD�EDLQLVKD�XNDPLOLIX�ZD�GLQL�KLL��QD�X]XUL�ZDNH�NDWLND�SDQGH�]RWH��
1D�NLOD�VLID�QMHPD�QL�]D�0ZHQ\H]L�0XQJX�0ROD�ZD�YLXPEH�Y\RWH��


